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G : FOOD TECHNOLOGY

Q. 1-10.9 carry one mark each.

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Standard pasteurization profocol for milk is adeguate for destroying

(A) Clostridinm sporogenss (B) Bacillus cereus
(C) Clostridienm botwlinum (D) Lisreria mowmocyiogenes

Which one of the following is MOT a component of an evaporator?

(A) Heat exchanger {B) Vacuum separator
(C) Condenser (D) Cyelone separator

Among the following animal foods, the fat content s least in
(4) Beef (B Chicken meat {C)h Pork {0y Larnb flesh

The enzymee that hydrolyzes starch to maltose is

(A) c-afnylase {B) [Famylase
(C) gluc ylase (D} cyclodextrin glucanotransfe

Which qne of the following is MOT ennched in endosperm during parboiling of jpaddy ™
{A) Thigrmine (B) Miacin {C) Iroa {1} Fat

Heat-treated legume seed profeins are more digesnble than those of unireated legume seed proteins
due to

(A) reaction of reducing sugars with g=amino group of lysine

(B) increased binding of lecting to intestinal mucosal cells

(C) thermolabile nature of lecting and Kunitz-type protease inhibitors
(I} thermolabile nature of Bawman-Birk type of inhibitor

What is the percent relative humidity at which both the dry bulb and wet bulb themometers would
recond equal ternperatures?

(A)D (B) 10 (C) 50 (D) 100

Hovar many fold would the g-number of a centrifuge increase by dooubling both the spinning speed
and bowl diameter?

{A)2 (B) 4 (C) 8 (D) 16

The gradws]l decrease in viscosity of tomato paste during storage can be prevented by gquickly
heating it to §2 “C, becauss

(A} water soluble pectin interacts with calcium
(B) hemicellulose prevents decrease in viscosity
(C) lignin prevents decrease i viscosity

(I} pectin methyl esterase is inactivated
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Q. 10 - ). 22 carry two marks each.

Q.10

Q.11

Q.12

Match the enzyme in Groonp I with its comesponding application in Groop 11
Caronp 1 Coroup 11
(P} Chymeosin (1) Removal of copked flavor from milk
() Sulfhydry] oxidase {2) Soybean milk coagulation
(R) f—Galactosidase (3) For rennet puddings
(5) Microbial proteases {4) Lactose removal
(A} P-3, Q-2 R-1. 54 (ByP-3, -1, B4, 5-2
(CyP-1.0-3. R4, 52 (C) P-4, (-3, R-2, 5-1
Milk is flowing at 0.12 m'/min in a 2.5 cm diameter Eip-:- The temperature of the milk is 21 *C and

the corresponding viscosity and density are 2.1 x 107 Pas and 1029 kg-‘m], respectively. IF the flow
is found to be turbulent under the given conditions, the Reynolds number is

o skim milk with
b the separator is

Whole fnilk (34,950 kg) containing 4% fat is to be scparated in & h peniod §
0.45% fjat and cream wath 45% fat. The flow rate of cream stream (kg'h)

Q13 Match th o 11
Crroup | Grroup 11
(P} Corn {1} Lycopene
Q) Red pepper {2) p-Carotene
(R} Pumpkin {3) Capsanthin
(5) Tomato {4) Lutcin
(A) -3, -4, R-2, 5-] (Bj P-2, (-1, B-3, 54
(Cy P4, -3, B-2, 5-1 (D P-1, -2, B4 5-3
.14  Undesirable bittemiess frequently encountered in cured cheese s due to the
(A) presence of nanngen
(B) formation of limonin
(C) owerall hydrophobicity of amimo acid side-chains in peptide
(D) conversion of humulone to isohumulone
Q.15 Green tea is considered to be a more healthy option than black tea because it
(A} has high content of polyphenols
(B) is richer in thearubigin
(C) docs not require any swestener duning tea preparation
() has no microbial load
ME-G 23
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Q.16

Q.17

(.18

Q.19

Q.20

Q.21

Q.22

Multiple effect evaporation leads to

(A) reduction m operating cost and reduction in capital cost
(B) increase in opcrating cost and increase in capital cost
(C) increase in operating cost and reduction in capital cost
() reduction in operating cost and mcrcase in capatal cost

A dilute pincapple juice is heated in a double pipe heat exchanger from 28 °C to 75 °C by heat
exchanging with hot water flowing in shell in counter current direction. Hot water is entering the
shell at 95 *C and leaving at 85 “C. The log mean temperature difference (SChis

Heat is transferred by radiation to a loaf of bread in an oven at a uniform temperature of 177 “C.
The total surface area and temperature of the loaf are (LS m™ and 100 °C, respectively. The
surface emissivity of the loaf is 0.85 and the value of Stefan-Boltzmann constant is 5.73 x 107"

Jm k. The net heat transfer (W)is

Granulated sugar, having an average paricle size of 500 pym. is milled to produce icing sugar
having average particle size of 25 pm. The power requirement was 10 KW as obtained by
Rittingef's law. If the same mill were to be used to produce fondant swear |having an average
particle pize of 20 pm at the same capacity, the power requirement (KW would e

One ton)of sovbean containing 18% oil, 33% protein, 7. 1% carbobydrates. 9.4% of fibre and ash,
and 10.5% moisture is crushed and pressed. The residual oil content m the pressed cake is 6%
Asgsuming that there is no loss of protein and water with oil, the amount of oil (kgh obtained from
the crusher is

Match the processing method in Groop [ with the operation carnied out in Group [T

Coroup 1 Group 11
() Diegumming ( 1) Crystallization of triacylglycerol by cooling to rermove fat crystals
() Deacidifyimg 12} Passing heated oil over charcoal
(R) Bleaching {3} Using alkaline solution to remove fatty acids
(5) Wintenzing {(4) Wetting with water to remove lecithin
(A)P-3,0-1, B-4. 52 ({B) P-4, -3 R-1,5-2
(Cy P4 -3 R-2.5-1 (D) P-3, (1, R-2, 54

The order of succession of microbes in the spoilage of milk, involving (P} Lacrebaciiles, {0))
protein digesting bactena, (R) Laciococcus lactis, (S) yeasts and molds, 1s

(A) S=R=(=P (B) S=0Q=R=P (C) R=P=5=0 (D) Q=S=P=R

END OF THE QUESTION PAPER
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